
Factorisation d'Exposants (D)
Décomposez chaque exposants en facteurs.

512 =

39 =

912 =

411 =

511 =

57 =

711 =

17 =

612 =

39 =
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Factorisation d'Exposants (D) Solutions
Décomposez chaque exposants en facteurs.

512 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5

39 = 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3

912 = 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9

411 = 4 × 4 × 4 × 4 × 4 × 4 × 4 × 4 × 4 × 4 × 4

511 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5

57 = 5 × 5 × 5 × 5 × 5 × 5 × 5

711 = 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7

17 = 1 × 1 × 1 × 1 × 1 × 1 × 1
1

612 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

39 = 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3
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244 140 625

19 683
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